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L ST, Xl Chemistry
Part-D ‘ .

5x5=25"

i) What do you understand by the term mole?

i) Explain the diagonal relationship.
(OR)
Write the assumptions of Bohr atom model.
i) Differentiate hard water and sott water.
‘) Hew temporary hardness can be removed by Clark’s method
(OR) _
Derive the valtues of critical constants in terms of Vanderv Waal's conetants.
i) Define Hess's law of constant heat summation. )
iy Define entmpy. : i
(OR) e - IR
Derive the relztionship between Kp & K¢ e i
Using molecular orbital theory, explain the formation of NO molecule.
R ‘
Desonbe any two types of constjtutlonal lsomers
Explain the structure of Benzene. -
" (OR)
How is ac:d rain formed? DISCUSS the harmful effects of acsd rain. -

l’tt“ttt .
1

o
.,‘y,r

. Knidly Send Me Question & Answ

I i A S S wt s

st SR el SR e

1
3

wwW.Tranpsc.com

SECOND REVISION TEST - 2025

A ~ Standard XI RegNo. T 1 1 []
: SR CHEMISTRY o
Time : 3.00 hrs Part-A Marks : 70
L Choose the correctanswer : : 15x1 15

~a) 40 ml CO, gas -

. 40 ml of methane is ‘completely burnt using 80 ml of oxygen at room temperature The

volume of gas left after coolmg at room temperature is

b) 40 ml CO, gas and 80 mi HZO gas

: c) 60 ml co, gas and 60 ml HZO gas d) 120 ml CO, gas

: Reason

: 'Assertlon

‘The spectrum of-He* is expected to be similar to that of hydrogen

He'is also one electron system. .

a) Both assertlon and reason are true and reason is the correct explanatlon of assemon

b) .Both assertlon and reason are true but reason is not the correct explanation of asserho_n

P c) . Assertion is true but'reason is false

T d) Both assertlon and reason are false

eys to ,Us:i,pedaSaIai.net@gmaiI.bong b

c) Unmlquadlum

: -The temperature of the system decreases in an

) Adiabatic expansion

g What. would be the IUPAC name for an element with atomic number 1072

E)E Ununseptium b) Unnilseptium

d) Unnilpentium

; For decolounsatlon of 1 mole of acidified KMnO,, the moles of H,0, requxred is -
o V

f =Among the follownng the Ieast thermally stable ls

b)/
d)/,_

.-Maximum dewatlon from ldeal gasis expected from : P
a) CH4(9) b NHs@ ©) Hag) d) Nygp'

T

a) Isoth‘ermal expansion b) Isothermal compressuon

d) Adiabatic compressnon‘_ £
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2 Xl Chemistry i o 3 Xl Chemistry

o g g f part
190. State Dalton’s law of partial pressure.
8. i for the reaction, Ny, + 3H2(g),_2NH3(g) is ; :

_ . ‘ 20. Define intensive properties. Give an example.
) ﬁf b) JRT ¢)RT - d) RT? ol : . 21. Give the balanced chemical equation for the equilibrium reaction for which the equilibrium

: N[0, F
_ : i ~ constant is given as K¢ NI, P
a) Nolaity b) Molarity c) Mole fraction d) Both (a) and (c) . £ ; : o}t [H,0F
-’ ' 22. Give the IUPAC names of the following compounds.

CH, - cI:H -(I3H -CH,

a

£. Which of the following concentration termsis / are independent of temperature? {

10. ‘Which of the following compounds is trigonal bipyramidal in shape?

PCL : : ; r , p
» a) PCl b) NH, » c) CH, ~ -d) BFg Ry . RUBREN. I i) CH,=CH-CH=CH,
11. Sodium nitropruside reacts with sulphide ion to give a purple colourdue,tq the fprmation o £ & .
o . : : » i 23..What is Resonance?
2) [Fe(CN);NOJ*~ b) [Fe(NO);CNJ* c) [Fe(CN); NOS]“ d) (Fe(CN)5 NOSF" [ i - " 24, Complete the following reactions :
12. What is the hybridisation state of carbonium |on? i A - : -
yb benzyl ‘ } e ) CgHsCl+2NHg —250°C/5am
a)sp? - b) spd? c) sp® ©d) spid- . g .
13. The IUPAC name of the following compound is - e B s i) CgHsCl + 2Na+ Cl-C H, _ Ether/a |
Ci CH:'CH: 2ty 2 - - Part-C -
N c=cC I L L ! ‘ lll. Answer any 6 questions. (Q.No.33 is compulsory) 6x3=18
/ \ : parte e i () e 25. Balance the following equations by oxidation number method.

) KMnO, + Na,SO5 —» MnO, + Na,SO; + KOH _
iy Cu+HNO; ——— Cu(NO,), + NO, + H,0
| 26. Define electronegativity.

&) trans-2-chloro-3-iodo-2-pentene  b) cis-a-iodoaz-}chloro-&b%n;ane

¢) trans-3-iodo-4-chloro-3-pentene ) cis-2-chloro-3-iodo-2-pentene
14, Chloroform reacts with nitric acid to produce : :

a_) “Nitro toluene ﬁ) Nitro glycerine  ¢) Chloropicrin d) Chloroplcric acld
*15. Bhopa! gas tragedyisacaseof e

a) Therma! poﬂut:on b)Asrpollut!on c) Nuclear poliution  d) Land pollution

. " Part-B o G
I Answnranyﬁquesﬁona {QNou!scompulsory) e \ O exasn2
16, Defme relative atomic mass. : : i
_17 StateAuibau principle.

27. Write the uses of sodium bicarbonate. .

28. Write lhe Vander Waal's equation for real gases and explain the terms invoived.

29. Mention the differences between ideal and n'o&-idgal solution. :

30. Define Electrophile and Nucleophile. A ey .
31, Write Sabatier-Sendersen’s reaction. BN
32. Which is considered to be Earth's protective umbrelta‘? Why?

33. C(s) + 02(9) — COzm Calculate the standard entropy change for 1he above
feaction, given the standard entropies’ of 002(9)‘ C(,) and 02(9) are 213 6 5 740 and
205 JK-! respectively. .
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